Miniature Fittings

M Series

to
“‘Sfdeer Made to Order

Applicable Tubing: @2 Connection Thread: M3, M5 (Refer to page 3 for details.

Applicable tubing O.D. x.LD.: @2 xJ 1.2

Connection thread: M3 x 0.5/ M5 x 0.8
One-touch fitting size: 3.2/ 0 4

Tubing Connection and Removal
I
Connection of tubing
1. Cut the tubing perpendicularly allowing
additional length.
2. Insert the tubing into the sleeve.
Sleeve

«—

3. Insert the tubing slowly into the fittings.
Make sure to secure a gap of approx. 0.5
mm between the tubing end and the barb
end.

Gap (approx. 0.5 mm)

4. Insert the sleeve slowly. Make sure not to
allow any gap between the sleeve end
side and the body end side. (Please refer
to the illustration below.)
If you feel any strong resistance and
cannot push the sleeve completely to the
end side, this may be caused due to
jamming. Remove and repeat again by
starting from step 1 making sure to
secure a gap in the step 3.

Note) When installing the tubing, the sleeve
must be attached. Operation without
attaching the sleeve may cause tubing
disconnection.

Eﬂ_»i:T—'herje should not be any gap.

Removal of tubing

1. Withdraw the sleeve straight along the
tubing. Use a tool such as long-nose
pliers if it is difficult to pull out by hand.

2. Withdraw the tubing straight.

3. When reusing the tubing, cut off the
previously installed portion of the tubing
to avoid possible leakage and/or
disconnection of the tubing.

-
|

Easy tube insertion ‘
High retaining force

Sleeve
Attaching the sleeve
achieves a larage retaining
force.
Detaching it allows easy ——

removal of the tube.
Electroless nickel plated

Body

Electroless nickel plated

)

Low clamping torque ‘

Firm sealing
One-touch fitting

Specifications

Applicable tubing material Polyurethane

Applicable tubing (O.D./1.D.) Q2/01.2

Fluid Air, Water (1,2)

Max. operating pressure 1 MPa®)

Ambient and fluid temperature -5 to 60 °C, Water: 0 to 40 (No freezing)

Port size M3, M5, @ 3.2, 0 4

Thread JIS B0205 (Metric fine thread)

Note 1) The surge voltage pressure must be under the maximum operating pressure.

Note 2) Deionized water is not recommended for use as it may affect the material used in the fittings.
In addition, it is known to degrade the water quality.

Note 3) Apply the maximum operating pressure to the tube during the tube connection.

How to Order

M-|5||AU|- 2 -
Miniature fittinI

lMade to Order

Refer to page 3 for details.

Applicable tubing (0.D./1.D.)

|2 [o2/012
. ¢ Model
Port size ¢ AU Barb fitting M3, M5
&) M3 x 0.5 ALU Barb elbow M3
5 M5 x 0.8 ALHU M5
32 3.2 F Barb Qne-touch 032 04
04 Q4 R Plug-in reducer

For details on applicable tubing O.D. and port
size combinations for each model, refer to the
charts on the Dimensions page.



Dimensions

Miniature Fittings M Series

Barb Fitting: M-3AU-2, M-5AU-2

Applicable tubing| Connection Weight  Connection thread . "
0.D./1D.[mm] | thread Model H|(A|B|C|/D|E|F| M (ql Applicable tubing
M3 x0.5| M-3AU-2[45] 9 3 5 07 M
g2/912 4 - 4 . 5 ? ?}
M5 x 0.8 | M-5AU-2 |7 | 10| 4 771 % 1%
Component Parts
No. | Description Material Note I | e s—r—~ wl o
1 Sleeve C3604 Electroless nickel plated '-'-‘ Q &
2 | Barb fitting C3604 Electroless nickel plated Q
3 Gasket  |NBR, Stainless steel 304 —
B C
Width A
across
flats H
Barb Elbow: M-3ALU-2, M-5ALHU-2
Applicable tubing|Connection Weight
0.D./1.D.[mm] | thread Model H|IA/B|C|/ D E|F|G|I|J|M lal
| - = [, -
N 02/012 M3X05]| M-3ALU-2 65 , [, [ool28/25] 04[5 | T16
\‘\_4 M5 x 0.8 | M-5ALHU-2| 7 |11 |75 3.5[35](13.5] 7 3.5
\ V'
.‘“’3‘?‘ Component Parts 1) Applicable tubing
- No. | Description Material Note Width across
= 1 Sleeve 3604 Electroless nickel plated M flats H
2 Stud C3604 Electroless nickel plated \
P o - \
" %Y 3 Barb elbow C3604 Electroless nickel plated T
e 4 Gasket NBR, Stainless steel 304 — e l
1o N 9 =
w O ‘\
- o 1)
Connection
B thread
A

Barb One-touch: M-32F-2, M-04F-2

Applicable tubing [mm]
@(0D./10) | ®(0.D.) Model A|B|C|D|E
3.2 M-32F-2 [17.7[13.7|7.5
2 1.2 4 109
02/0 g4 M-04F-2 |18 [14 |85
Component Parts
No. | Description Material Note
1 Sleeve C3604 Electroless nickel plated al o
2 Body C3604 Electroless nickel plated S Q
3 Seal NBR —
4 Cassette |POM, Stainless steel 304 —
Applicable tubing @ M1 \ Applicable tubing @
B
A
Plug-in Reducer: M-32R-2, M-04R-2
Applicable tubing| Fitting size Weight
0.D. /1.D. [mm] oD Model A B B®@| C |E|F|M [l
03.2 M-32R-2 | 36 | 23.3 205|315 0.7
g2/01.2 09| 4 |25——
g4 M-04R-2 | 36.5 | 23.8 | 20.5 | 32 0.8
Component Parts
No. | Description Material Note
1 Sleeve C3604 Electroless nickel plated
2 | Studded body C3604 Electroless nickel plated Applicable
3 Stem PP —

fitting size @ D C?
C

1) Applicable tubing
.M

fffffffffffff 7

8
\

1

Iy

9D

]

f
|
T
'
L
|
i
'

OF

QE

O
:



M series
Made to Order Specifications L&

Please contact SMC for detailed dimensions, specifications and lead times.

n Gasket Material Modification

Mﬂde to

Symbol Specifications
Gasket material: Stainless steel 304, FKM
X226 Applicable thread Gasket part no.
M3 M3G-DPH00489
Gasket material: Stainless steel 316, Special FKM
X112 Applicable thread Gasket part no.
M5 M-5G3
Spare Parts
Description Part no. Applicable thread Material Applicable model
M-3G M3 PVC —
Gasket M-3G3 Stainless steel 304, NBR M-3AU-2, M-3ALU-2
M-5G2 M5 Stainless steel 304, NBR M-5AU-2, M-5ALHU-2
M-5G3 Stainless steel 316, Special FKM —
Sleeve M-5-2-P02 — C3604 (With electroless nickel plated) M-[J-2

/\ Specific Product Precautions

™ T m mm mm Em Em Em Em Em Em Em RN RN R R EE EE Em RN BN N EE Em Em Em Em R Em Em Em oy

1 Be sure to read this before handling the products.
I Refer to back page for Safety Instructions.

|

/\ Caution

1. Tightening of M3/M5 Threads

Tighten by hand, and give it an additional turn with a wrench.

Please check the number of tightening revolutions using the table below.

If tightened excessively, thread portion may be damaged and gasket may be deformed. This
will cause air leakage.
On the contrary, if tightened insufficiently, thread may loosen causing air leakage.

Thread Model Number of tightening rotations
M3 M-3AU-2 Approx. 1/4 rotations
M-3ALU-2 Approx. 1/2 rotations
M5 M-5AU-2 Approx. 1/6 to 1/4 rotationsNote)
M-5ALHU-2 Approx. 1/2 rotationsNote)

Note) As a guideline, the tightening torque should be 1 to 1.5 N-m.



Miniature Fittings

M Series

Applicable Tubing: @ 3.2, @ 4, @6 Connection Thread: M3, M5, R /3

(RoHS>

Hose nipple

Configuration for easy
insertion into the tube
Holds the tube tightly

Applicable for nylon,
soft nylon and
polyurethane tubing.

Configuration for easy
insertion into the tube

Barb fitting

b

Holds the tube tightly
Body : Cap nut
V\Illth electroless nickel Certainly hold the tube
plated by manual clamping Body 'Gasket |
' Easy romoval of tube . . . .
| Gasket | by loosening With electroless nickel Low tightening
Low tightening With electroless nickel  Plated Erqr?‘l:e |
torque plated ight sea
Tight seal
Specifications
Compact plplng space Applicable tubing material | Nylon Soft nylon Polyurethane |  PFA () FEP @ |Modified PTFE®
Hose nipple tubing M3 _ oagos@31802 . _
connection/disconnection is simple while Applicable 104025
keeping a large retaining force. wong s, rvs |04025° 8026410 25(0 818026 40 25| 0 w0 25 |0 40 25
) ) e ’ J6/04 J6/04 QG/@L-l Jd6/04 | O6/04 | D6/D4
Line up various styles Fluid Air, Water @9
For air connection in confined areas. W, operalng pressure (@ 20) | 1.5 MPa | 1 MPa [0.8MPa | 1MPa | 1.5MPa | 1.4 MPa

Accepts many styles of
plastic tubing

Hose nipple and hose elbow accepts
nylon, soft nylon, and polyurethane
tubing.

\ fg@,

g &
oedd
0 ¢
L,

- S

Made to Order
(Refer to page 10 for details.)

de t0
5

Ambient and fluid temperature

—5 to 60 °C, Water: 0 to 40 °C (No freezing)

Connection size

M3, M5, R /8 M5, R V8

Thread

JIS B0205, Class 2 (Metric fine thread)
JIS B0203 (Taper thread for piping)

Note 1), Note 2), Note 3) Compatible only with hose nipple type.

Note 4) Barb fitting, barb elbow, barb elbow (H) are not compatible with water.

Note 5) Deionized water is not recommended for use as it may affect the material used in the fittings.
In addition, it is known to degrade the water quality.

Principal Parts Material

Body

C3604 (Electroless nickel plate) (Nipple M-3N, M-5N: Stainless steel 303)

Material

Gasket

Nylon 66: GF30 %, Stainless steel 304: NBR

+ Body of M-5E, M-5ER, M-5M is not surface-treated.
Electroless nickel plate treated is available as option -X2.

Fitting Markings for Applicable Tubing Material (Barb fitting, Barb elbow, Barb elbow (H))

Tubing material determines the compatible fittings. (Refer to the table below.)

Connection

Tubing

Fitting marking for applicable tubing material

Barb fittings Barb elbow Barb elbow (H)

M3

Soft nylon
tubing
Polyurethane
tubing

R g,

Nylon
tubing

M5

Soft nylon
tubing
Polyurethane
tubing

Marking

N

SvC



M Series

Series M3, R 1/8 Series M5
Model Description Application Note ||Sefes; Model Description Application Note | (Seies| Model Description Application Note
Barb fitting For soft nylon |@3.18/2.18 Barb fitting Tee
i ) @425
V-3AU-3 for soft tube | tubing xM3 M-5AN-4 | for nylon tubing X M5 P N Both sides  |M5 female
‘Q‘w For polyure- |@ 3.18/2 A For nylon M-5T Q__u allow 90° x M5 femalel
thane tubing x M3 M-5AN-6 0& tubing Q 6/4 connection  |x M5 female
AT el x M5
M-3AU-4 '@‘} :r?;scglt T;);:m 0425 au i =
polyu x M3 Barb fitting | For soft nylon |03.18/2.18 Universal Bod
P.6 | thane tubing for soft tubing | tubing M5 elbow ody r:)tates
Barb elbow for For soft |3 180,18 M-5AU-3 M-5UL 5 at 360 M5 female
soft tubing nylon e For polyure- | @3.18/2 \ around the  |x M5 male
M-3ALU-3 tubing XM3 T thane tubing x M5 o stud axis
63 PV P8
. AU J4/25
£ el ] B oo 22 Uriversalee
%’ -~y at360°  [tubing x M3 and po|yure- o6/ — BOdy rotates M5 female
)‘?::\ atro;nd_u o sof M-5AU-6 thane tubing M5 M-5UT (‘.\a \ at 360° XI5 female
M-3ALU-4| Y T njon | gams Pr X . aroundthe |yl
and poly- : Barb elbow O 4/25 stud axis
urethane | X M3 M-5ALN-4 |for nylon tubing| * For nylon « ME’; P.8
P.6 ubing —., *Body rotates Extention fitting
SO -
Universal € at 360° around 3 6/4 Solid piece
elbow Body rotates M-5ALN-6 = the stud axis M-5J ) \ moves fitting | M5 male
) at 360° M3 female P.7 xM5 'W up from X M5 femalel
MEUE 3 around the | x M3 male Barb elbow for Forsoft 03181218 o g | WOTKPIECE
- stud axis M-sALU-3 |50 P9 ong | xM5 e
P.6 H H Body Forpoly- | @ 3.18/2 pp FIttIEg‘tO
Universal rotates at | Urethane workpiece
tee Body rotates S0 K ubing x M5 M-5N .w and fitting x’\f\/ISSn:;Te
L~ at 360° M3 female| Ny o) 1y L |romtelForson | © 4125 ' to fitting
M-3UT [} around the |x M3 female stud axis ”V'é’” el X M5 p.g | connection
1 and poly- .
S 2 stud axis X M3 male urethane | @ 6/4 -
M-5ALU-6 tubing Universal
P6 P.7 x M5 p Body rotates
nipple
Nipple Fitting to Barb elbow (H) @ 4/2.5 | EEM-5UN pp’» at 360 xl\:lws5n:na;?e
workpi M-5ALHN-4 (for nylon tubing|Bo% ) ,.a ) around the
piece M3 mal rotates | FOr x M5 ) PAT.
. e male ) . |nylon stud axis
M-3N and fittin I at 360 :
A 9 ]
- X M3 male S tubing P.8
to fiting woaLins| L [dems v Bulkhead union
connection = x M5
P.6 P.7
Plug Barb elbow (H) Forsoft |(3.18/2.18 M-5E (‘ \ Panel-mpunt M5 female
) nylon y connection  |x M5 female|
Use to plu for soft tubing tubin x M5
pLg M-5ALHU-3 g
M-3P ‘ i unused M3 Body Ef’er‘ﬁggg @3.18/2 P.8
port \?7,',\ . L?‘gé%sc tubing x M5 Bulkhead reducer | Reduction
P6 V-SALHU-4 ' around theFor soft | D 4/2.5 from Rc 1/8 to
: : = studaxis nylonand| x M5 M-5ER M5 including  |Rc /8
{)r%)rl]lére- o6 ganekl or x M5 female|
r r ! racket
Sefes|  Model | Description | Application | Note R P.7 tubing x M5 mounting
Barb fitting B 4/25x Hose nipple For reducing R
f : For nylon, @ 4/2.5 or reducing Re
M-01AN-4 |for nylgn tubing| gqr nylon R s M-5H-4 soft nylon M5 ;/3 fsnﬂe bet . Re s
4 \ ¢ | tubing and M-5M I\A“éestsenior?sup 0% 1 x M female
101AN-G QW o 61/4 X M-5H-6 polyurethane | @ 6/4 nciingponel |9 92079
. R1s p.7 | tubing x M5 or bracket mounting
Barb fitting Hose elbow Bushing
@ 4/2.5x
M-01AU-4 |for soft tubing | For soft R 4 M-5HL-4 — «For nylon, gx4'\//|25_5 . For reducing | 4,
= . nylon and \/ 7 soft nylon and M-5B ‘M‘ R 1/8 female X MS?emaIe
3 N4 polyure- 3 6/4 X g polyurethane de/a to M5.
M-01AU-6 ) thane tubing R4 M-5HL-6 tubing
P.6 8 P.8| +Body rotates | - MS =
Hose nipple For nylon, @ 4/25x Hose elbow (H)| at 360° Q425 Plug ) Use to plug
M-01H-4 soft nylon R Vs M-5HLH-4 . around lthe X M5 M-5P i unused M5
and poly- "‘"“ﬂv 7 stud axis P9 port.
urethane @ 6/4 x 3 6/4
M-01H-6 tubing ~ M-5HLH-G| ¥ L, e
Elbow
\ One-sided M5 female
W-sL \ 48 90° elbow  |x Ms female
P.8

O
:




Miniature Fittings M Series

Series M3
Barb Fitting for Soft Tubing: M-3AU-3 Barb Fitting for Soft Tubing: M-3AU-4
Width across 212 Width across ~_21.2
flats 5 flats 5
= 0 =
o> N BT
L) N ] o =
T f of
M3 x 0.5 M3 x 0.5
Effective area: 0.9 mm? Weight: 0.6 g Effective area: 0.9 mm? Weight: 0.7 g
Barb Elbow for Soft Tubing: M-3ALU-3 Barb Elbow for Soft Tubing: M-3ALU-4
Width across Width across
flats 5 flats 5
- Q —~ =
- o ot Py = 0 9 T
4 E]l o o t— ) /‘J‘ O 0 3 ! Y
. o " J 0
% M3 x 0.5 LTI 145 % M3 x 0.5 AR
r 2 7.8
9.5 10.3
Effective area: 0.6 mm? Weight: 0.8 g Effective area: 0.6 mm? Weight: 0.9 g
Universal Elbow: M-3UL Universal Tee: M-3UT
Width across Width across
M3 x 0.5 flats 5 2xM3x0.5 flats 5
g% o [ )]
] I A ¢ ‘ |
= S Be = S B
=2 7o) | : 75}
= ™| M3x05 o J‘i’ M3x05 =
1.2 T | |eag 01.2 04.8
.5 9 .5 | "9
Effective area: 0.6 mm? Weight: 1.6 g Effective area: 0.6 mm? Weight: 1.4 g
Nipple: M-3N Plug: M-3P
Width across )
flats 5 M3 x 0.5 Width across
01.2 flats 5
¥ : )
o}
M3 x 0.5 M3 x 0.5
Weight: 0.6 g
Effective area: 0.9 mm? Weight: 0.5 g
Series R 1/8
Barb Fitting for Nylon Tubing, Soft Tubing: M-01A[1-4/-6
Applicable tubing Model A B | @cC Eﬁe(f::ﬁf)"ea Wg?ht .oC
P M-01AN-4 15.1 5 1.8 2.1 6.4 i
v : M-01AN-6 171 | 7 | 25 4.0 6.6 @
. M-01AU-4 151 5 1.8 2.1 6.5
Soft tubing M01AUS | 171 | 7 | 25 | 40 | 67 Width across <
flats 10 -
ik
R s i
Hose Nipple: M-01H-4/-6
Effective area | Weight D
Model > C
ode A B ec ep E m (mm?®) [a] oC Width across
M-01H-4 18.6 8.5 1.8 6.5 7 5 241 7.1 flats 10
M-01H-6 19.6 9.5 3 8.5 8 6 5.5 7.7
L {9/
<
R s j ~

N




M Series

Series M5

Barb Fitting for Nylon Tubing: M-5AN-4/-6

B Model A B | ocC Eﬂe(fmf)"ea W‘f;?ht
‘jw%‘* M-5AN-4 12 5 1.8 2.1 1.6 1 @
M-5AN-6 14 8 2.5 4.0 1.7 <
<t
M5 x 0.8 E‘Q Width across
Barb Fitting for Soft Tubing: M-5AU-3/-4/-6 flats 7
Effective area | Weight
Model A B @gcC (mmz) [g] CD[
il M5AU-3 | 115 | 45 | 16 1.7 15 <
M-5AU-4 12 5 1.8 2.1 1.6 <
M-5AU-6 14 7 25 4.0 1.8 M5 x 0.8 LeC  \Width across
flats 7
Barb Elbow for Nylon Tubing: M-5ALN-4/-6
Barb Elbow for Soft Tubing: M-5ALU-3/-4/-6
Effective area | Weight M-5ALN-4
Model A | B | C |@D ; o) —
(m) L1 msaLu-aea | 2 AF o 11
. M5ALN-4 |13 | 9 [ 5 1.8 1.4 4.0 uc] [ 18 O 7
y 5 M-5ALN-6 |15 |11 |7 | 25 24 44 e G
g M-5ALU-3 13 9 4.5 1.6 1.1 4.0 525 M5x08
M-5ALU-4 | 135 95[ 5 1.8 1.4 4.1 H
M-5ALU-6 | 1565 |115] 7 | 25 2.4 45 A
M-5ALN-6
M-5ALU-6 Q) e
w&# 7Y
2 © i ?ru_w‘ H |
© &
225 M5 x 0.8
B
Barb Elbow for Nylon Tubing: M-5ALHN-4/-6
Barb Elbow for Soft Tubing: M-5ALHU-3/-4/-6
i i Width
Model A|B|c oD Eﬁe(fﬂ‘:ﬁf)"ea ng]’ht M-5ALHN-4 st
M-5ALHU-3/-4
= M-5ALHN-4 |12 | 85] 5 1.8 1.4 3.2 - 7
v M-5ALHN-6 | 14 [105]| 7 | 25 2.4 3.7 wlw. [ FQF.\ T
M-5ALHU-3 | 12 | 85| 45 | 16 1.1 32 2| o) { L
= M-5ALHU-4 | 125] 9 [ 5 1.8 1.4 3.3 ot U6
M-5ALHU-6 | 14511 | 7 25 24 3.9 o M5 x 0.8
Q2.
B
A
M-5ALHN-6 XVidth across
M-5ALHU-6 .1
Q 17
© a %_ﬂ E AC* i
Yo}
(2]
C M5 x 0.8
02.5
B
A
Hose Nipple: M-5H-4/-6
Effective area | Weight
Model A| B |C|OD|QGE| H | M (mm?) (d] oE
M5H4 |155|85 | 7 |18 |65 | 7 | 5 2.1 27 EI £
M-5H6 |165| 95| 8 | 25|85 | 8 6 4.0 3.9 om
<
M5 x 0.8 h A
|__aD\ Width across

O
2

flats H



Miniature Fittings M Series

M5 Series
Hose Elbow: M-5HL-4/-6
i Weight
Model | A |B | cC | D |0E|OF E"‘mz‘;rea ol P i
L [F— L o ¥ .Y
M5HL-4 [165(125]85] 7 [18 (65| 1.4 |44 ool ¥ s O E
M-5HL-6 |175|135[ 95| 8 |25 |85 2.4 5.2 74]:‘ D~
™ C
02.5 M5 x 0.8
B
A
Hose Elbow: M-5HLH-4/-6
Effective area | Weight Width across
Model A | B|C |D|[QE|OF| G |H [Ol| M () o flats 7 |
M-5HLH-4 |155|12 |85| 7 |1.8[65|55|15[ 7 | 5 1.4 45 - T
M-5HLH-6 |175|135|/95| 8 |25(85 |6 16 | 8 6 24 6.6 — (s = ﬁ/:‘ \
t {10} ) D +
I 5 ’{_ﬁ s %) N
in 8 I
m o
= M5 x 0.8
A
Elbow: M-5L Tee: M-5T
7 M5 x 0.8 7 M5 x 0.8 M5 x 0.8
I
13 - B
\ \ w1 g N Sdai s
v I~ 1T 0 \ 1 o}
\ % i p M O ™ kibid a2
— H MY
M5x0.8 1| 06.8 M5 x 0.8 26.8
13 Weight: 4.2 g 13 Weight: 3.5 g
Universal Elbow: M-5UL Universal Tee: M-5UT
M5 x 0.8 Width across flats 7 2xM5x0.8 Width across flats 7
7 e T o
- LOI ~ gis = E= - 7<> Nt 9e
& ) nt w P "DI -
‘ LT K »Fq i
‘ M5 x 0.8 025 92 ' M5 x 0.8 oL 0
= 7 6.8 -1 7 =] e2e
13 06.8
13
Effective area: 2.4 mm? Weight: 5.3 g Effective area: 2.4 mm? Weight: 4.8 g
Extension Fitting: M-5J Nipple: M-5N
M5 x 0.8 Width across flats 7 Width across flats 7
| M5 x 0.8
A 02.5
o i
g =i ) <
.% M5 x 0.8 Qw i -
B <t
225 M5 x 0.8
Effective area: 4.0 mm? Weight: 3.6 g Effective area: 4.0 mm? Weight: 1.5 g
Universal Nipple: M-5UN Bulkhead Union: M-5E
2.5 Width scross M5 x 0.8 M8 x 0.75
M5 x 0.8 flats 8
p— i to) - Width across Width across
N w 1 \ flats 10 flats 10
.M Width across Mounti late thick
5 M5 X 0.8 q flats 8 4 N 3gumnzizg plate thickness
1
For thhe pl?te thicknessM3.5 to6 mm,d
i i 7
Effective area: 4.0 mm? Weight: 3.9 g give the plate tapping M8 x 0.75, and it 4.6 g

N



M Series

Series M5
Bulkhead Reducer: M-5ER Manifold: M-5M
1 9xM5x0.8
M12 % 0.75 Rcls 14, M12x0.75 9XxM5x 7
Rc 18 M5 x 0.8 ’ Sas
b B .. B
. YA % 2x05.5 i 0
Width across 32 - . o
flats 14 a =29 | | Width across
— | 1 i flats 17 &
a Width across flats 14 i ; 6.5
7 Mounting plate thickness 32 29 15‘]
3.5 max. |
14
For the plate thinkness 3.5 to 6 mm, give the plate Egp?hl én‘?lggi?'%nﬂﬁiéhgéqgsg rr‘]n‘]r?lx'g?i’\'/z T;]Z plate
tapping M12 x 0.75, and then screw-in. . tapping M12 x 0.75, and then screw-in .
Weight: 12 g e ’ Weight: 59 g
Bushing: M-5B Plug: M-5P
Width across
M5 x 0.8 flats 10
> Width across
121 )™ = “(g < flats 7
B é M5 x 0.8
R 18 i
Weight: 5.8 g Weight: 1.3 g

A\ Precautions

| Tightening of M3/M5 Threads |

| Use of Tube with Hose Nipple |

| Use of Tube with Barb Fitting |

A\ Caution

1. Tighten by hand, and give it an additional turn
with a wrench.
Please check the number of tightening
revolutions using the table below.
If tightened excessively, thread portion may be
damaged and gasket may be deformed. This
will cause air leakage. On the contrary, if
tightened insufficiently, thread may loosen
causing air leakage.
Thread Model
M-3AU-0O
M-3N
M-3P
M-3ALU-O
M-3UL
M-3UT
M-5AN-0O0
M-5AU-O
M-5H-0
M-5J
M-5N
M-5UN
M-5P
M5 | M-5ALN-O
M-5ALU-O
M-5ALHN-O
M-5ALHU-O
M-5HL-0O0
M-5HLH-O
M-5UL
M-5UT
Note) As a guideline, the tightening torque should
be 1to 1.5 N-m.

Number of tightening rotations

Approx. 1/4 rotations

M3

Approx. 1/2 rotations

Approx. 1/6 to 1/4
rotations Note)

Approx. 1/2 rotations Nete)

A\ Caution

1. Cut the tube perpendicularly to the tube
axis to a little longer than required length.
(Use tube cutter “TK-17, “TK-2”, “TK-3”,
“TK-5" or “TK-6".)

2. Pass the tube through the cap nut.

3. Push the tube until it comes to the end of
the barb portion, or it may cause air
leakage or hose releasing.

4. Tighten the cap nut firmly by hand on the
fitting.

O
2

A\ Caution

1. Cut the tube perpendicularly to the tube
axis to a little longer than required length.
(Use tube cutter “TK-17, “TK-2”, “TK-3”,
“TK-5" or “TK-6".)

2. Push the tube until it comes to the end of
the barb portion, or it may cause air
leakage or release hose.



M Series

Made to Order Specifications

Please contact SMC for detailed dimensions, specifications, and delivery.

n Gasket Material Modification

Symbol Specifications
Gasket material: Stainless steel 304, NBR
Applicable thread Gasket part no.
X83 M3 IN-233-706
M5 Note) M-5G2
Gasket material: Stainless steel 304, FKM
X226 Applicable thread Gasket part no.
M3 M3G-DPH00489
Gasket material: Stainless steel 316, Special FKM
X112 Applicable thread Gasket part no.
M5 M-5G3

Note) Compatible with only models using M-5GH.

Spare Parts

Description Part no. Applicable thread Material Applicable model
M-3G M3 PVC —
M-3G3 Stainless steel 304, NBR M Series, For M3 thread
M-5G1 PVC —
Gasket M-5G2 Stainless steel 304, NBR M Series, For M5 thread
M-5G3 M5 Stainless steel 316, Special FKM —
M-5ALO-6, M-5ALHC-6
R o )
M-5GH Nylon 66, GF30% M-5HL-4, 6, M-5HLH4, 6
M-5-4-P01 . _ C3604_ M-01H-4, M-5H-4
c (With electroless nickel plated) M-5HL-4, M-5HLH-4
ap nut
M-5-6-P01 . C3604 M-01H-6, M-5H-6

(With electroless nickel plated) M-5HL-6, M-5HLH-6

10



A\ Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or equipment
damage. These instructions indicate the level of potential hazard with the labels of

“Caution,” “Warning” or “Danger.” They are all important notes for safety and must be
followed in addition to International Standards (ISO/IEC) ", and other safety regulations.

Caution indicates a hazard with a low level of risk
which, if not avoided, could result in minor or moderate
injury.

/\ Caution:

Warning indicates a hazard with a medium level of risk
which, if not avoided, could result in death or serious
injury.

/A Warning:

Danger indicates a hazard with a high level of risk
which, if not avoided, will result in death or serious
injury.

/A Danger:

A Warning

1. The compatibility of the product is the responsibility of the person
who designs the equipment or decides its specifications.

Since the product specified here is used under various operating
conditions, its compatibility with specific equipment must be decided by
the person who designs the equipment or decides its specifications based
on necessary analysis and test results. The expected performance and
safety assurance of the equipment will be the responsibility of the person
who has determined its compatibility with the product. This person should
also continuously review all specifications of the product referring to its
latest catalogue information, with a view to giving due consideration to any
possibility of equipment failure when configuring the equipment.

. Only personnel with appropriate training should operate machinery
and equipment.
The product specified here may become unsafe if handled incorrectly.
The assembly, operation and maintenance of machines or equipment
including our products must be performed by an operator who is
appropriately trained and experienced.

. Do not service or attempt to remove product and machinery/
equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only
be performed after measures to prevent falling or runaway of the driven
objects have been confirmed.

2. When the product is to be removed, confirm that the safety measures as
mentioned above are implemented and the power from any appropriate
source is cut, and read and understand the specific product
precautions of all relevant products carefully.

3. Before machinery/equipment is restarted, take measures to prevent
unexpected operation and malfunction.

. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use
outdoors or in a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways,
air navigation, space, shipping, vehicles, military, medical treatment,
combustion and recreation, or equipment in contact with food and
beverages, emergency stop circuits, clutch and brake circuits in press
applications, safety equipment or other applications unsuitable for the
standard specifications described in the product catalogue.

3. An application which could have negative effects on people, property,
or animals requiring special safety analysis.

4. Use in an interlock circuit, which requires the provision of double
interlock for possible failure by using a mechanical protective function,
and periodical checks to confirm proper operation.

/\ Caution

. The product is provided for use in manufacturing industries.
The product herein described is basically provided for peaceful use in
manufacturing industries.
If considering using the product in other industries, consult SMC
beforehand and exchange specifications or a contract if necessary.
If anything is unclear, contact your nearest sales branch.

/\ Safety Instructions

1) ISO 4414: Pneumatic fluid power — General rules relating to systems.
ISO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.

(Part 1: General requirements)
ISO 10218-1: Manipulating industrial robots - Safety.
etc.

Limited warranty and
Disclaimer/Compliance
Requirements

The product used is subject to the following “Limited warranty

and Disclaimer” and “Compliance Requirements”.Read and
accept them before using the product.

Limited warranty and Disclaimer

1. The warranty period of the product is 1 year in service or 1.5
years after the product is delivered, whichever is first. ? Also,
the product may have specified durability, running distance
or replacement parts. Please consult your nearest sales
branch.

2. For any failure or damage reported within the warranty

period which is clearly our responsibility, a replacement
product or necessary parts will be provided. This limited
warranty applies only to our product independently, and not
to any other damage incurred due to the failure of the
product.

3. Prior to using SMC products, please read and understand

the warranty terms and disclaimers noted in the specified
catalogue for the particular products.

2) Vacuum pads are excluded from this 1 year warranty.

A vacuum pad is a consumable part, so it is warranted for a year after
it is delivered. Also, even within the warranty period, the wear of a
product due to the use of the vacuum pad or failure due to the
deterioration of rubber material are not covered by the limited
warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the
manufacture of weapons of mass destruction (WMD) or any
other weapon is strictly prohibited.

2. The exports of SMC products or technology from one country

to another are governed by the relevant security laws and
regulations of the countries involved in the transaction. Prior
to the shipment of a SMC product to another country, assure
that all local rules governing that export are known and
followed.

/\ Caution

SMC products are not intended for use as instruments
for legal metrology.

Measurement instruments that SMC manufactures or sells
have not been qualified by type approval tests relevant to the
metrology (measurement) laws of each country.

Therefore, SMC products cannot be used for business or
certification ordained by the metrology (measurement) laws
of each country.

Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.



SMC Corporation (Europe)

Austria +43 (02262622800 www.smc.at

Belgium +32(0)33551464  www.smc.be

Bulgaria +359 (0)2807670  www.smc.bg

Croatia +385 (0)13707288  www.smc.hr

Czech Republic +420 541424611  www.smc.cz

Denmark +45 70252900 www.smcdk.com
Estonia +372 6510370 www.smcpneumatics.ee
Finland +358 207513513 www.smc fi

France +33(0)164761000  www.smc-france.fr
Germany +49(0)61034020  www.smc.de

Greece +302102717265  www.smchellas.gr
Hungary +36 23513000 www.smc.hu

Ireland +353 (0)14039000  www.smcautomation.ie
Italy +39 03990691 www.smcitalia.it

Latvia +371 67817700 WWW.Smc.lv

Printing ZX 00 Printed in Spain

office@smc.at
info@smc.be
office@smc.bg
office@smc.hr
office@smc.cz
smc@smcdk.com
smc@info@smcee.ee
smcfi@smc fi
supportclient@smc-france. fr
info@smc.de
sales@smchellas.gr
office@smc.hu
sales@smcautomation.ie
mailbox@smcitalia.it
info@smc.lv

Lithuania  +3705 2308118 www.smclt.Ilt
Netherlands +31 (0)205318888  www.smc.nl
Norway +47 67129020 WWW.SMC-NOrge.no
Poland +48 222119600 www.smc.pl
Portugal +351 214724500 WWW.SMC.eu
Romania  +40 213205111 www.smcromania.ro
Russia +7(812)3036600  www.smc.eu
Slovakia +421(0)413213212  www.smc.sk
Slovenia  +386 (0)73885412  www.smc.Si

Spain +34 945184100 WWW.SmC.eu
Sweden +46 (0)86031240  www.smc.nu
Switzerland +41(0)523963131  www.smc.ch
Turkey +90 2124890440  www.smcturkey.com.tr
UK +44 (0)845 121 5122 www.smc.uk

South Africa +27 10 900 1233

Www.smcza.co.za

info@smclt. It

info@smc.nl
post@smc-norge.no
office@smc.pl
apoioclientept@smc.smces.es
smcromania@smcromania.ro
sales@smcru.com
office@smc.sk
office@smc.si
post@smc.smces.es
smc@smc.nu

info@smc.ch
satis@smcturkey.com.tr
sales@smc.uk

zasales@smcza.co.za

Specifications are subject to change without prior notice and any obligation on the part of the manufacturer



